N4 ANSWERS - , i y-axis, OFigin 16. (ap (0.1) (b) nonc
(1 L 3 0 N
15, ) () by y-axis 1B (@) 0.3, 20} g,
14 » 03, (2,00, (0, =2),(0.2) (] .
. (9 (200200202 D reaxis oy
- N ) ) none 23 () (~L.0)0, -1, 0 Origiy
W= e L 0 e (ay pone (b origin 26 (8) none  (b) r.gyy L
LFu et L
LLat 5 1.~ 1) are on the graph

2 (03)in g
(0.2)and (VE V2) atc 08 the pray, bk,

s 34 (0,0 symmetric with respegy
lothe
oty

0 the origin

raph. 31

{0 the y-a

espect

32 (1) and (2 % (0,0):symmetic with -
2t . 0 et with rpCC e (4.0 (0.2 symmetsic with respect @ the y.pyq
37, (0,9, (3.0). (~3, 0);symmet : « oaxis, s o
.. (2,002,010, -0 i with respec 0 1€ 1255 41 (0.-27). (3,000 symmer,
w0, (— 1,03, (1,00,{0. - 2), (0. 2y symmetric with respect " (4.0). (~ 1, 0); no symmery
£2. (=1,0),(1,0) o <tric with respect (0 the origin
44, (0,4 symmetric with respect U "“‘ ""\l o (0.0 curic with respect 10 the 48 (0.05:20 symmey,
46, (2.0}, (2.0); symmetric with respect 10 the s i 52
; o p

s0.

], for all x,the graphs of y = V¥ and y = [x] arc the same

?. the domain of the variable ¢ is x = 0; for y = x, the domain of the varizble x is all real numbers.

(b) Since Vx

(o) Fory = (V)
Thus, (V) = xonly forx = 0
() For y = V., the range of the variable y is y = O for y x, the range of the variable y is all real numbers.
Also, V! = (x|, which cquals x only if x = 0,
2.3 Concepts and Vocabulary (page 179)
4. radivs 5 True
2.3 Exercises (page 179)

: Radius 2: (x

6 (2,556

4 8 Center{(L2);Radius = Zi(x — 1)* 4 (p — 2% =

2 + (y = 1)
5

3/ 9
J.RM\H\EJX ~ 2= 10 Center (1.2); Radius =

VE(x— 1f+ (y - 2 =2

3y
1. (
7 @) (hk)
®)
L

(© (£ 2.01:0.£2)
. @ (hk) =

)

© (s

ANSWERS

Boax-1F+p+19=1

SRS TR MR BN

). 0)

i
Woir=4F+@p+37
Xyl - B+ by

36 W (r+5+ly-20=25 m

P+ Wy — 4y 4=0

+9=0

\:

©.05r =2

&) (10)(5.0)

© ©.0:0.2)
3. (@) (k) = (-2.2%r =3
®) >

B @ k)= ~2.-1)r =5
® y

h2pr =3

VB0 (0.-2 £ 2VE) (@ (-2 4 2VB.0%0.-1 £ VH) @ (-2 VEOR (02 V5)

2.3 Exercises

©) (0.0);(0.2): (=2.0)




(a) (h.k)
(b)

30. (a) (1. k) . r 31. (a) (h. k) =
(b) . (b)

(c) (3,0) (c) (0,—1)

33. (a) (h, k) = (3, = 5 34, (a) (h.k)

W (b) b . _,j 2 4 9, 6v -0 40, 22 + }‘3 i

43. (b) 44. (a) 48. () P
2P =9 41 (x - 2%+

37 =4 49.b 50 bey
+ 4y — 4168.16 = 0

i
V31, 0): (0,— 6), (0.2) () | -2 =+

(©) (3 %




